Tell whether the following are Tor F. Provide a justification in 4 lines.
1. Consider a country with its own Central Bank. Under the standard policy architecture, if savers refuse to buy the new bonds issued by the government to redeem maturing bonds at current interest rates, the issue will lead to an increase in the money stock; otherwise, the money stock will not be affected by the budget deficit. 

2. Monetary policy does not have effects on income distribution.

3. When the risk premium of long term bonds is high, high risk-averse corporations do not issue such bonds.

4. When the risk premium of long term bonds is high, only high risk-averse banks do buy such bonds.

5. If a massive sell-off of government bonds in the secondary market leads to a rise in their interest rates, it will not lead to an instantaneous increase in government interest payments. 

6. Consider a country with a very high public debt. If the Central Bank chooses to impose zero real interest rates on public debt, that Central Bank will become unable to fight inflation.

7. In the periods when they are needed to discourage private saving, a Central Bank should impose zero nominal interest rates (even if inflation is positive).
8. Assume a closed economy with no taxes and suppose that, if the economy is at full-employment, private saving is $30 billion. Private investment is $ 20 billion whatever the level of employment. Start at full-employment. If the government runs a balanced budget, then private saving will end up being equal to $ 20 billion.

9. Hypothetical massive sales of government bonds by I.I.s lead to excess reserves in the banking system. But, because credit depends on the demand for credit, those excess reserves do not lead to an increase in the quantity of money – regardless of the effect they may have on interest rates.

